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The circuit given here can 
be used to send telegraph-
ic messages via compu-

ter. The message data entered 
through the computer keyboard is 
converted to corresponding Morse 
code and transmitted via the cir-
cuit attached to any IBM compat-
ible computer’s printer port.

Morse code pulses from the 
computer appearing at pin 3 
of the 25-pin parallel port are 
routed to the base of transistor 
T1(CL100) which in turn switches 
on the audio frequency oscillator 
built around IC1 (NE555) for the 
duration of each pulse. The frequency of 
the oscillator can be varied by adjusting 
potmeters VR1 (20 kilo-ohm) and VR2 (50 
kilo-ohm). 

The audio output from pin 3 of IC 
(NE555) is connected to an FM transmit-
ter comprising transistor T2 (BF194B) and 
the associated components. The frequency 
of the transmitter can be changed with 
the help of trimmer capacitor VC1 or by 
changing the number of turns of coil L1.

The FM modulated signal is coupled to 
a short-wire antenna via capacitor C7. The 
signal can be received using any ready-
made FM receiver tuned to the frequency 
of the transmitter.

As stated earlier, this circuit is con-
nected to the parallel port of the PC. Only 
pins 3 and 25 of the ‘D’ connector are used. 
Pin 3 corresponding to data bit D1 of port 
378(hex) carries the Morse Code data from 
the computer to the circuit while pin 25 
serves as common ground.

The circuit should be powered by +5 
volts regulated power supply. It should 
be fixed inside a metal box to reduce in-
terference.

The program, written in TURBO 
PASCAL 7.0, accepts the message via 
the keyboard, converts it to correspond-
ing Morse code and sends the code to pin 
3 of the printer port. The Morse code of 

various characters appears under the 
function ‘write(ch)’ of the program wherein 
‘di’ represents a short duration pulse and 
‘da’ represents a long duration pulse. The 
program is interactive and permits varia-
tion of speed. The program can be modified 
to read and transmit the text files or one 
can even make a TSR (terminate and-stay-
resident) program.

It is hoped that this circuit idea 
would prove to be of great value to the 
government’s telecom department, defence 
services, coast guard, merchant navy and 
amateur radio operators as well as all 
those who make use of Morse code for 
message transmission.

PROGRAM LISTING IN TURBO PASCAL 7.0

{$M $450,0,0}
uses crt,dos:
label
main,endpro,output,message,startmessage,
	 speedselect,fileiput,dosshell
,start;
var
s:array [1..14] of string [76]:
pause,x,y,i,b:integer;
sl:slring[l]:
ch:char:
procedure color{a,b:integer);
begin
textcolor(a);
textbackground(b);
end;

procedure di;
begin
port[$378]:=2;
delay(pause);
port[$378]:=0;
delay(pause);
end;
procedure da;
begin
port[$378]:=2;
delay(pause*3);
port[$378]:=0;
delay(pause);
end;
begin
pause:=100;

START:
clrscr;
color(11,1);
gotoxy(15,4);
write(‘PUNJABl UNIVERSITY PATIALA-147002 ‘);
gotoxy(1,7);
color(10,3);
gotoxy(10,18);
write(‘==========================’);
gotoxy(10,19);
write(‘Fl = Increase Speed                         ‘);
gotoxy(10,20);
write(‘F2 = Decrease Speed                       ‘);
gotoxy(10,21);
write(‘F3 = Output to Device                     ‘);
gotoxy(10,22);
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write(‘F4 = Message Input                         ‘);
gotoxy(10,23);
write(‘F5 = Dosshell            			 

 ‘);
gotoxy(10,24);
write(‘F6 = Quit                                          ‘);
gotoxy(10,25);
write(‘==========================’);
color(14,1);
gotoxy(25,2);
write(‘PROGRAMMED BY’);
gotoxy(21,3);
write(‘PUNERJOT SINGH MANGAT’);
color(10,3);
gotoxy(26,17);
write(‘CONTROLS ‘);
gotoxy(35,19);
write(‘SPEED’);
color(10,3);
gotoxy(35,20);
write(pause);
MAIN:
window(1,1,80,25);
gotoxy(2,25);
color(0,7);
write(‘Waiting for the command... ‘);
ch:=readkey;
if ch=#0 then
begin
ch:=readkey;
if (ch=#59) or (ch=#60) then goto speedselect 
else
if ch=#61 then goto output else
if ch=#62 then goto startmessage else
if ch=#63 then goto dosshell else
if ch=#64 then goto endpro;
end;
goto main;
STARTMESSAGE:
begin
gotoxy(2,25);
write (‘ Enter  the  message  and  press ENTER 
KEY...’);
color(12,1);
window(3,2,78,15);
clrscr;
for x:= 1 to 14 do s[x]:=’ ‘ ;
i:0;x:=1;y:=1;b:=0:
end:
MESSAGE:
begin
x:=wherex;
y:=wherey;
ch:=readkey;
if ch=#13 then goto main;
if ch=#8 then
begin
if x=1 then

begin
if y=1 then goto message;
y:=y-1;
x:=76;
end
else
x:=x-1;
delete(s[y],length(s[y]),1);
gotoxy(x,y);
write(‘ ‘);
gotoxy(x,y);
goto message:
end;
if(x=76) and (y=14) then goto message;
write(ch);
s[y]:=(s[y]+ch);
goto message;
end;
OUTPUT:
begin
gotoxy(2,25);
write(‘ Sending output to the MorseDevice... 	
	 Press any key to stop... ‘);
color(12,1);
window(3,2,78,15);
clrscr;
for i:= 1 to y do
begin
for x:= 1 to length(s[i]) do
begin
s1:=(copy(s[i],x,1));
ch:=upcase(s1[1]);
delay(pause*2);
write(ch);
if ch=’A’ then begin di; da; end else
if ch=’B’ then begin da; di; di; di; end else
if ch=’C’ then begin da; di; da; di; end else
if ch=’D’ then begin da; di; di; end else
if ch=’E’ then begin di; end else
if ch=’F’ then begin di; di; da; di; end else
if ch=’G’ then begin da; da; di; end else
if ch=’H’ then begin di; di; di; di; end else
if ch=’I’ then begin di; di; end else
if ch=’J’ then begin di; da; da; da; end else
if ch=’K’ then begin da; di; da; end else
if ch=’L’ then begin di; da; di; di; end else
if ch=’M’ then begin da; da; end else
if ch=’N’ then begin da; di; end else
if ch=’O’ then begin da; da; da; end else
if ch=’P’ then begin di; da; da; di; end else
if ch=’Q’ then begin da; da; di; da; end else
if ch=’R’ then begin di; da; di; end else
if ch=’S’ then begin di; di; di; end else
if ch=’T’ then begin da; end else
if ch=’U’ then begin di; di; da; end else
if ch=’V’ then begin di; di; di; da; end else
if ch=’W’ then begin di; da; da; end else
if ch=’X’ then begin da; di; di; da; end else

if ch=’Y’ then begin da; di; da; da; end else
if ch==’Z’ then begin da; da; di; di; end else
if ch=’1' then begin di; da; da; da; da; end else
if ch=’2' then begin di; di; da; da; da; end 
else
if ch=’3' then begin di; di; di; da; da; end else
if ch=’4' then begin di; di; di; di; da; end else
if ch=’5' then begin di; di; di; di; di; end else
if ch=’6' then begin da; di; di; di; di; end else
if ch=’7' then begin da; da; di; di; di; end else
if ch=’8' then begin da; da; da; di; di; end else
if ch=’9' then begin da; da; da; da; di; end else
if ch=’0' then begin da; da; da; da; da; end else
if ch=’.’ then begin di; da; di; da; di; da; end else
if ch=’;’ then begin da; di; da; di; da; di; end else
it ch=’:’ then begin da; da; da; di; di; di; end else
if ch=’,’ then begin da; da; di; di; da; da; end else
if ch= ” ‘ then begin di; da; di; di; da; di; end else
if ch=’?’ then begin di; di; da; da; di; di; end else
if ch=’-’ then begin da; di; di; di; di; da; end else
if ch=’_’ then begin di; di; da; da; di; da; end else
if ch=’/ ’ then begin da; di; di; da; di; end else
if (ch=#39) or (ch=#96) then begin di; da; da;
	 da; da; di; end else
if (ch=’(‘) or (ch=’)’)then begin da; di; da; da;
	 di; da; end else
if ch=’ ‘then delay(pause*6);
if key pressed then goto main;
end;
end;
goto main;
end;
SPEEDSELECT;
begin
if (ch=#59) and (pause>50)  then  pause: = 
pause+2;
if (ch = =#60)  and  (pause < 190)  then  pause: = 
pause - 2;
color(10,3);
gotoxy(35,20);
write1n(pause,’ ‘);
goto main;
end;
DOSSHELL:
begin
color(7,0);
clrscr;
write1n(‘Type EXIT to return to pro-
gramme...’);
swapvectors;
exec(getenv(‘comspec’),”);
swapvectors;
goto start;
end;
ENDPRO:
color(7,0);
clrscr;
end.


